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~ Appheation o Business and  Economics

et Cx) be the folal cost that @ ompony ncure In Producmﬂ

X unils of a cerfon commodn'hj . The f“"fhb" C(x) , e called 09_3__§._L;

funch‘on ,

—————————

The vate of chqnﬂe of cost, with ree[sec+ lo the number of anits Produceo' 15

= maramaf cost

called the mogma\ cost - Therefore, ¢'(x)

let plx) be the price per untt thal the com,)anﬁ on c\narﬂe f 11 sells

x units . Then p s called the demand iunchoqn (or gn‘ce juncl‘fon)

unit 1s P(x) then the lotal revenue 15

£ x unils are sold and price per

Rix) = x.])(x\ cand R 18 alled the revenue funchbn |

The detwahve R’ of the revenue funclion 1 colled the mavalnal

revenue junction .

if x units are sold , then the total Profn‘ 5 Plx) = R(x)=C(x)

and P i called o profid function .

The VmaroLmo\ Brofh‘ function 18 p



B A clore has been sel\lrﬂ 00 Tablels o week al § 350 each .

A warket survey ndicates hal for each 4 10 rebate offered 1o buyers |

Yhe nurber of anls sold will increase bﬂ 20 a weeK

Fnd the denand funchon and the revenue funchbn . How larﬂe

a rehale should the store offw Io maximize 115 revenue ?

Solaon I x 15 fhe number o{ fablets sold per weell | then the

wee\Qj ncreace 1 $01e6 15 X =200 .

For each increase of 20 units sold , the price 15 A@cvoased

. each addihional unit sold , e dectense 1N price

bﬂ é} 10 - 6o fo
wll be L 10 and ’rhe're{ore the demand funchion 15
plx) = 350 - ;kafaoo) = 450 —;,x

Then the revenue fun&u‘on 15

RO = xplx) = X (450 ‘Tx) = 450% - ) x?
9

Then  R'(%) = 450 - x

So | R'(x) = 0 = X = 450
S rax revenue

@ S | when x = 450
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Then Hhe correefsondmﬂyn‘ce 15

pl450) = 450 - (450) = 225

and dherefore the vebate is 350 - 225 = 125
U

B If Clx) = 16,000 + 500X - 162 + 0.004 x3

i the st funchon and p(x) = 1700 - 7x 15 the
demand funchon , find the Produc%‘on level that will

MOXIMIZe Pro]rl + .

SN RUx) = xp(0) = x(1300-7x) = 700X -

Then the Profh‘ funchbn CP(x) = Rix) - c(x)

)
- 1700x — Ix% — (16000 + 50X - 1.6x740

004x3)

_ 1300% 54X - 0:004x%~ 1600

-

{ —d

100

To find moxumum ?rofﬂ, Pix)= 0 & X & 0O

1900 - 10.8x -0+ 019x> =
Go tn@X Troum Pro{n‘

0
2 — 100,000 = O
x? +900x — 10 e %~ 100

(x +1000) (x -100) = O
X = 100



Ex A slel pipe 1o bemj carried down a ha\lwaﬂ 4 wioe
At the end of the hall there & o nﬁht—anaied furn nfo a narrower

hO“wqj 6 fi wide . What 15 the )onﬂw‘h of the Ionaeei pipe

ol con be carried honzonk\llj around the corner 7

8 'quoloxt‘cal\j Jwe will fmﬂl

the roaximnum Ierﬂﬂn bj

solv{ncj a mnimum Prob\em

le} L be the )enﬂ‘rh of the hne

ACB qong from wall to wall
%ouch\\nﬂ the corner C

P =0 o & — I ,we hove L —> o0 ac L can be
2
as larae o we want  and so there will be an anﬂle O that
mil wake the ‘cnﬁ% ‘minmum , and a ppe of this !enﬂHm wil 1 pust )
ovound fhe comer .
L = L‘ - Ll

= 9QcosecD + bsec O

QL = ~YcosecDoct® + boech . 4and




dl _ 0 = 6%ecd fand = deoeecD. ot O @
0
act oneorned about @90,3-2— 80
:;
b dnd 9 s A = 3 o fand = IV L8
N a6 2 b
coseed cotb 053"
@ Co mm
O _.
— 5
X .96 0

7]

1!

5% 4he lonaoe’c L@naﬂ\ oJC ppe L q (e 496 )+ b sec (43.6 )

31,07 ft

2

B A nﬁht circulor thnder 16 nscribed 10 a cone widh he{ﬂht h and

hase radiug r. Find the |at3qs{ POQSl\b\e volure o? such o thml@r.

-y

I
i




S, h _ h-
h-y ( __;(_‘Lj'_
h =1h- h _
3 xh = 5) S zr_ - h J
j:‘h}‘f’ﬁ_}ﬂ
z r
.
Then VI = T\ij = 'ITXQ(-\}\._)_(_E\_) '—'--"U(gh -)—ﬂxgh
r r
Ten V'(x) =-3mh 4 Smxh | 0wy
r
Ten. V'x) =6 = anxh = nth _g = mxh | g_g_x_j 0
r r
= Ir
= X = =
= x=0 or ;
vio) = 0
vie) = me?h ‘“__3_‘1 nh -mth = 0
Y
2 2y Bh
V[ L = N 2y h - T (3 )
(aq - (3) —’T““
_ 4nrh o _8nc’h - 41t2h
9 27 37









